



REFERENCES

1. Thaveesomboon, P. "Electrans in Disordered Systems", Master's Thesis, Department of Physics, Graduate School, Chulalongkorn University, 1972.
2. Bezak, V. "Path-integral Theory of an Electron Gas in a Random Potential", Proc. Roy. Soc. Lond. A315,339-354 (1970)
3. Papadopoulos, G.J. "Exact Evaluation of a Path Integral Relating to an Electron Gas in Random Potential", J.Phys.A, Vol.7, No.2, 183-5 (1974)
4. Sebastian, K.L. "Exact Evaluation of a Path Integral with Generalised Memory", Phys.Lett. Vol.95A, No.3-4, 131-2 (1983)
5. Chetverikov, V.M. "Path Integrals for a Nonadditive Action" Teo.Mat.Fizika., Vol.24, No.2, 211-8 (1975)
6. Drchal, V. and Mesek, J. "Evaluation of the Path Integrals for Non-interacting Electron Gas in a Random Gaussian Potential" Czech.J.Phys., Vol26B, 967-75 (1976)
7. Gifeisman, Sh.N. "Direct Calculation of the Path Integral for Particle in Random Field", Moscow Univ.Phys.Bull. (U.S.A.), Vo.34, No.4, 105-10 (1979)
8. Dhara, A.K., Khandekar, D.C., and Lawande, S.V. "Path Integral of an Electron Gas in Random Potential", J.Math. Phys. 24(4), 844-7 (1983)

9. Samathiyakanit, V. "Path-integral Theory of a Model Disordered System", J.Phys.C, Vol.7, 2849-76 (1974)
10. Feynman, R.P. and Hibbs, A.R. in Quantum Mechanics and Path Integrals, Mc Graw-Hill, New York, 1965
11. Devies, H. "Summation over Feynman History : The Free Particle and the Harmonic Oscillator:", Proc.Camb.Soc. 50, 199-205 (1957)
12. Stratonovich, R.L. "On a Method of Calculating Quantum Distribution Functions", Dokl.Akad.Nank, SSSR. 115, 1097-1100 (Sov.Phys. Dokl. 2, 416-9
13. Van Vleck, J.H. Proc.Nant.Acad.Sci., 14, 178 (1928)
14. Pauli, W. "Field Quantizing:", Lecture Notes, Zurich:ETH, 139 (1951)
15. Gel'Fand, I.M. and Yaglom, A.M. "Integration in Functional Spaces and its Application in Quantum Physics:", J.Math.Phys. 1, 48-69 (1960)
16. Papadopoulos, G.J. "Gaussian Path Integral", Phys Rev.D, Vol 11, No.10, 2870 (1975)
17. Royer, A. "On the Fourier Series Representations of Path Integrals", J.Math.Phys. 25(10), 2873-84 (1984)

Appendix A

Transforming to Cosine Representation of the Kinetic-energy and Potential-energy terms

In representing the paths as the cosine series, the linear transformation equation is given by

$$x_j = \frac{1}{\sqrt{NE}} a_0 + \sqrt{\frac{2}{NE}} \sum_{m=1}^{N-1} a_m \cos \frac{m\pi j}{N} + \frac{(-1)^j}{\sqrt{NE}} a_N \quad (\text{A.1})$$

The kinetic-energy terms can be written as

$$\begin{aligned} \sum_{j=1}^N (x_j - x_{j-1})^2 &= \frac{2}{NE} \sum_{m=1}^{N-1} \sum_{l=1}^{N-1} 4a_m a_l \left[\sum_{j=1}^N \frac{\sin((2j-1)\frac{m\pi}{2N})}{2N} \frac{\sin((2j-1)\frac{l\pi}{2N})}{2N} \right] \frac{\sin \frac{m\pi}{2N}}{2N} \frac{\sin \frac{l\pi}{2N}}{2N} \\ &\quad + \frac{8\sqrt{2}}{NE} \sum_{m=1}^{N-1} a_N a_m \left[\sum_{j=1}^N (-1)^{j+1} \frac{\sin((2j-1)\frac{m\pi}{2N})}{2N} \right] \frac{\sin \frac{m\pi}{N}}{N} + \frac{4}{E} a_N^2 \end{aligned} \quad (\text{A.2})$$

Using the identity

$$\sum_{j=1}^N (-1)^{j+1} \frac{\sin((2j-1)\pi x)}{2N} = \frac{(-1)^{N+1} \sin 2N\pi x}{2 \cos \pi x} \quad (\text{A.3})$$

we have

$$\sum_{j=1}^N (-1)^{j+1} \frac{\sin((2j-1)\frac{m\pi}{2N})}{2N} = 0 \quad \forall m \neq N \quad (\text{A.4})$$

Then eq. (A.2) can be rewritten as

$$\begin{aligned} \sum_{j=1}^N (x_j - x_{j-1})^2 &= \frac{2}{NE} \sum_{m=1}^{N-1} \sum_{l=1}^{N-1} 4a_m a_l \left[\frac{1}{2} \sum_{j=1}^N \left(\frac{\cos((m-l)(2j-1)\frac{\pi}{2N})}{2N} - \frac{\cos((m+l)(2j-1)\frac{\pi}{2N})}{2N} \right) \right] \\ &\quad \times \frac{\sin \frac{m\pi}{2N}}{2N} \frac{\sin \frac{l\pi}{2N}}{2N} + \frac{4}{E} a_N^2 \end{aligned} \quad (\text{A.5})$$

Using the identity

$$\sum_{j=1}^N \cos(2j-1)x = \frac{1}{2} \cot \frac{x}{2} \csc x \quad (\text{A.6})$$

we have

$$\sum_{j=1}^N \left[\cos \frac{(m-l)(2j-1)x}{2N} - \cos \frac{(m+l)(2j-1)x}{2N} \right] = \begin{cases} 0 & \forall l \neq m \\ N & \forall l = m \end{cases} \quad (\text{A.7})$$

Then eq. (A.5) becomes

$$\sum_{j=1}^N (x_j - x_{j-1})^2 = \sum_{m=1}^N \left[\frac{4}{\epsilon} \frac{\cot^2 \frac{m\pi}{2N}}{2N} \right] a_m^2 \quad (\text{A.8})$$

For potential-energy terms we have

$$\begin{aligned} \sum_{j=0}^N x_j^2 &= \sum_{j=0}^N \frac{1}{N\epsilon} a_0^2 + \frac{2\sqrt{2}}{N\epsilon} a_0 \sum_{m=1}^{N-1} a_m \left[\sum_{j=0}^N \cos \frac{m\pi}{N} j \right] \\ &+ \sum_{j=0}^N \frac{1}{N\epsilon} a_N^2 + \frac{2\sqrt{2}}{N\epsilon} a_N \sum_{m=1}^{N-1} a_m \left[\sum_{j=0}^N \cos \frac{m\pi}{N} j \right] \\ &+ \frac{2}{N\epsilon} \sum_{m=1}^{N-1} \sum_{l=1}^{N-1} a_m a_l \left[\frac{1}{2} \sum_{j=0}^N \left(\cos \frac{(l+m)\pi}{N} j + \cos \frac{(l-m)\pi}{N} j \right) \right] \end{aligned} \quad (\text{A.9})$$

Using the identity

$$\sum_{j=0}^N \cos jx = \frac{\cos \frac{Nx}{2} \cot \frac{(N+1)x}{2} \csc \frac{x}{2}}{2} \quad (\text{A.10})$$

we have

$$\sum_{j=0}^N \cos \frac{m\pi}{N} j = \cos^2 \frac{m\pi}{2} = \begin{cases} 1 & \text{for } m = \text{even} \\ 0 & \text{for } m = \text{odd} \end{cases} \quad (\text{A.11})$$

Using the identity

$$\sum_{j=0}^N (-1)^j \cos jx = \frac{1}{2} + \frac{(-1)^N \cos [(2N+1)x/2]}{2 \cos(x/2)} \quad (\text{A.12})$$

we have

$$\sum_{j=0}^N (-1)^j \cos j \frac{\pi m}{N} = \frac{1}{2} + \frac{(-1)^N \cos m\pi}{2} \quad (\text{A.13})$$

Then eq. (A.9) can be rewritten as

$$\begin{aligned} \sum_{j=0}^N x_j^2 &= \frac{1}{N\epsilon} (N+1) a_0^2 + \frac{1}{N\epsilon} (N+1) a_N^2 + \frac{2\sqrt{2}}{N\epsilon} \sum_{m=1}^{N-1} a_0 a_m \cos^2 \frac{m\pi}{2} \\ &+ \frac{2\sqrt{2}}{N\epsilon} \sum_{m=1}^{N-1} a_m a_N \frac{1}{2} \left[1 + (-1)^N \cos m\pi \right] + \frac{1}{N\epsilon} (N+1) \sum_{m=1}^{N-1} a_m^2 \\ &+ \frac{2}{N\epsilon} \sum_{m \neq l}^{N-1} \sum_{l=1}^{N-1} a_m a_l \frac{1}{2} \left[\cos^2 \frac{(m+l)\pi}{2} + \cos^2 \frac{(m-l)\pi}{2} \right] \end{aligned} \quad (\text{A.14})$$

In eq. (A.14) we compare the coefficients of the off-diagonal terms with the coefficients of the diagonal terms ; it is obvious that they are of the order $2/N$ and $1/\epsilon$ respectively. Since we are dealing with the case of large N as N approaches to infinity we can neglect all the off-diagonal terms. Hence eq. (A.14) can be rewritten as

$$\sum_{j=0}^N x_j^2 \approx \sum_{m=0}^N \frac{1}{\epsilon} a_m^2 \quad (\text{A.15})$$



Appendix B

The Jacobian of Transformation (Cosine Representation)

From the linear transformation equation

$$x_j = \frac{1}{\sqrt{N\epsilon}} a_0 + \sqrt{\frac{2}{N\epsilon}} \sum_{m=1}^{N-1} a_m \cos \frac{m\pi j}{N} + \frac{(-1)^j}{\sqrt{N\epsilon}} a_N \quad (\text{B.1})$$

the jacobian matrix $M = \left[\frac{\partial x_j}{\partial a_n} \right]$ can be written as

$$M = \frac{1}{\sqrt{N\epsilon}} \begin{bmatrix} 1 & \sqrt{2} & \sqrt{2} & & & & \\ 1 & \sqrt{2} \cos \frac{\pi j}{N} & \sqrt{2} \cos \frac{2\pi j}{N} & & & & \\ 1 & \sqrt{2} \cos \frac{2\pi j}{N} & \sqrt{2} \cos \frac{4\pi j}{N} & & & & \\ \vdots & \vdots & \vdots & \ddots & & & \\ \vdots & \vdots & \vdots & \vdots & \ddots & & \\ 1 & -\sqrt{2} & \sqrt{2} & & & & \end{bmatrix} \quad (\text{B.2})$$

For the sake of simplicity we let $N = \text{odd integer}$ and M^T be the transpose of the jacobian matrix. Then we have

$$M^T M = \frac{1}{N\epsilon} \begin{bmatrix} \sum_{j=1}^N 1 & \dots & \sqrt{2} \sum_{j=0}^N \cos \frac{m\pi j}{N} & \dots & \dots \\ \sqrt{2} \cos \frac{m\pi j}{N} & \dots & 2 \sum_{j=0}^N \cos \frac{l\pi j}{N} \cos \frac{m\pi j}{N} & \dots & \dots \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ \sum_{j=1}^N (-1)^j & \dots & \sqrt{2} \sum_{j=0}^N (-1)^j \cos \frac{m\pi j}{N} & \dots & \dots \end{bmatrix} \quad (\text{B.3})$$

where $n = 1, 2, \dots, N-1$ and $l = 1, 2, \dots, N-1$.

Using the identities

$$\sum_{j=0}^N \cos jx = \cos \frac{Nx}{2} \frac{\sin(N+1)\frac{x}{2}}{\frac{x}{2}} \operatorname{csc} \frac{x}{2} \quad (\text{B.4})$$

and

$$\sum_{j=0}^N (-1)^j \cos jx = \frac{1}{2} + \frac{(-1)^N \cos(2N+1)\frac{x}{2} \operatorname{csc} \frac{x}{2}}{2} \quad (\text{B.5})$$

we have

$$\begin{aligned} \sum_{j=0}^N \cos j \frac{m\pi}{N} \cos j \frac{l\pi}{N} &= \frac{1}{2} \left[\cos^2(l+m)\frac{\pi}{2} + \cos^2(l-m)\frac{\pi}{2} \right] \\ &= \begin{cases} 0 & \forall l \neq m, (l \pm m) = \text{odd} \\ 1 & \forall l \neq m, (l \pm m) = \text{even} \end{cases} \quad (\text{B.6}) \end{aligned}$$

$$= \frac{1}{2}(N+2) \quad \forall l=m \quad (\text{B.7})$$

and

$$\sum_{j=0}^N (-1)^j \cos j \frac{m\pi}{N} = \begin{cases} 0 & \forall m = \text{even} \\ 1 & \forall m = \text{odd} \end{cases}$$

Thus eq. (B.3) can be rewritten as

$$M^T M = \frac{1}{N\epsilon} \begin{bmatrix} (N+1) & 0 & 2 & 0 & \dots \\ 0 & (N+2) & 0 & 2 & \dots \\ 2 & 0 & (N+2) & 0 & \dots \\ \vdots & \vdots & \vdots & \vdots & \ddots \\ \vdots & \vdots & \vdots & \vdots & \ddots \\ 2 & 0 & 2 & 0 & \dots \\ 0 & 2 & 0 & 2 & \dots \end{bmatrix} \quad (\text{B.8})$$

The matrix in eq. (B.9) can be reduced to be

$$M^T M = \frac{1}{N\epsilon} \begin{bmatrix} N & 0 & 0 & \dots & -\frac{N}{2} & 0 \\ 0 & N & 0 & \dots & 0 & -2N \\ 0 & 0 & N & \dots & -N & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots & \vdots \\ \vdots & \vdots & \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & 0 & \dots & 2N & 0 \\ 0 & 0 & 0 & \dots & 0 & 2N \end{bmatrix} \quad (\text{B.9})$$

which is a triangular matrix. Then the jacobian of transformation can be obtained directly ; $J = 2 / (\epsilon)^{\frac{N+1}{2}}$.

ศูนย์วิทยศึกษกร
จุฬาลงกรณ์มหาวิทยาลัย

Appendix C

Transforming to Sine Representation of the Kinetic-energy and Potential-energy terms

By using the linear transformation equation

$$y_j = \sqrt{\frac{2}{NE}} \sum_{m=1}^{N-1} a_m \sin \frac{m\pi}{N} j \quad (C.1)$$

the kinetic-energy terms can be written as

$$y_j - y_{j-1} = \sqrt{\frac{2}{NE}} \sum_{m=1}^{N-1} a_m \left[2 \cos \frac{(2j-1)m\pi}{2N} \sin \frac{m\pi}{2N} \right] \quad (C.2)$$

Thus

$$\begin{aligned} \sum_{j=1}^N (y_j - y_{j-1})^2 &= \frac{2}{NE} \sum_{m=1}^{N-1} \sum_{l=1}^{N-1} a_m a_l \left(4 \sin \frac{l\pi}{N} \sin \frac{m\pi}{N} \right) \left[\frac{1}{2} \sum_{j=1}^N \cos \frac{(l+m)(2j-1)\pi}{2N} \right. \\ &\quad \left. + \frac{1}{2} \sum_{j=1}^N \cos \frac{(l-m)(2j-1)\pi}{2N} \right] \quad (C.3) \end{aligned}$$

Using the identity

$$\sum_{k=1}^N \cos(2k-1)x = \frac{1}{2} \sin 2Nx \csc x \quad (C.4)$$

we get

$$\sum_{j=1}^N \cos \frac{(l \pm m)(2j-1)\pi}{2N} = 0 \quad \forall l \neq m \quad (C.5)$$

Then eq. (C.3) becomes

$$\sum_{j=1}^N (y_j - y_{j-1})^2 = \sum_{m=1}^{N-1} \left(\frac{4 \sin^2 \frac{m\pi}{2N}}{\epsilon} \right) a_m^2 \quad (\text{C.6})$$

For the potential-energy terms we have

$$y_j^2 = \frac{2}{N\epsilon} \sum_{m=1}^{N-1} \sum_{l=1}^{N-1} a_m a_l \sin \frac{m\pi}{N} j \sin \frac{l\pi}{N} j \quad (\text{C.7})$$

$$\sum_{j=0}^N y_j^2 = \frac{2}{N\epsilon} \sum_{m=1}^{N-1} \sum_{l=1}^{N-1} a_m a_l \left[\sum_{j=0}^N \frac{1}{2} \left(\cos \frac{(l-m)\pi}{N} j - \cos \frac{(l+m)\pi}{N} j \right) \right] \quad (\text{C.8})$$

Using the identity

$$\sum_{j=0}^N \cos jx = \cos \frac{Nx}{2} \frac{\sin(N+1)x}{2} \csc \frac{x}{2} \quad (\text{C.9})$$

we get

$$\sum_{j=0}^N \frac{\cos m\pi j}{N} = \begin{cases} 1 & \text{for } m = \text{even} \\ 0 & \text{for } m = \text{odd} \end{cases} \quad (\text{C.10})$$

Then eq. (C.8) can be written as

$$\sum_{j=0}^N y_j^2 = \sum_{m=1}^{N-1} \frac{1}{\epsilon} a_m^2 \quad (\text{C.11})$$



Appendix D

The Jacobian of Transformation (Sine Representation)

From the linear transformation equation

$$y_j = \sqrt{\frac{2}{NE}} \sum_{m=1}^{N-1} a_m \sin \frac{m\pi j}{N} \quad (D.1)$$

the jacobian matrix $M = \left[\frac{\partial y_j}{\partial a_m} \right]$ can be written as

$$M = \sqrt{\frac{2}{NE}} \begin{bmatrix} \sin \frac{\pi j}{N} & \sin \frac{2\pi j}{N} & \sin \frac{3\pi j}{N} & \dots \\ \sin \frac{2\pi j}{N} & \sin \frac{4\pi j}{N} & \sin \frac{6\pi j}{N} & \dots \\ \sin \frac{3\pi j}{N} & \sin \frac{6\pi j}{N} & \sin \frac{9\pi j}{N} & \dots \\ \vdots & \vdots & \vdots & \dots \end{bmatrix} \quad (D.2)$$

Let M^T be the transpose of the jacobian matrix, then we have

$$M^T M = \frac{2}{NE} \begin{bmatrix} \sum_{j=1}^{N-1} \sin^2 \frac{j\pi}{N} & \sum_{j=1}^{N-1} \sin \frac{j\pi}{N} \sin \frac{2j\pi}{N} & \dots \\ \sum_{j=1}^{N-1} \sin \frac{j\pi}{N} \sin \frac{2j\pi}{N} & \sum_{j=1}^{N-1} \sin^2 \frac{2j\pi}{N} & \dots \\ \vdots & \vdots & \dots \\ \sum_{j=1}^{N-1} \sin \frac{j\pi}{N} \sin \frac{(N-1)j\pi}{N} & \sum_{j=1}^{N-1} \sin \frac{2j\pi}{N} \sin \frac{(N-1)j\pi}{N} & \dots \end{bmatrix} \quad (D.3)$$

Using eq. (C.10) with the fact that

Appendix E

Harmonic-Oscillator Prefactor



The harmonic-oscillator prefactor can be written as

$$F(T) = \lim_{N \rightarrow \infty} \left(\frac{1}{A} \right)^N \int_{-\infty}^{\infty} \dots \int_{-\infty}^{\infty} dy_1 \dots dy_{N-1} \exp \left\{ -\frac{m}{2i\hbar\epsilon} \left[\sum_{j=1}^N (y_j - y_{j-1})^2 - \omega^2 \epsilon^2 \sum_{j=0}^N y_j^2 \right] \right\} \quad (E.1)$$

where $\frac{1}{A} = \left(\frac{m}{2i\hbar\epsilon} \right)^{1/2}$, $y_0 = y_N = 0$.

Since the boundary points of the path integral in eq. (E.1) vanish, we can represent the paths $y(t)$ as a sine series. We restrict ourselves to the discrete-time assumption so that we have

$$y_j = \sqrt{\frac{2}{N\epsilon}} \sum_{n=0}^N a_n \sin \frac{n\pi j}{N} \quad (E.2)$$

By using the eq. (E.2) as the linear transformation equation, eq. (E.1) can be transformed to become

$$F(T) = \lim_{N \rightarrow \infty} \left(\frac{1}{A} \right)^N J \int_{-\infty}^{\infty} \dots \int_{-\infty}^{\infty} da_1 \dots da_{N-1} \exp \left\{ -\frac{m}{2i\hbar\epsilon^2} \sum_{n=1}^{N-1} \left(4\sin^2 \frac{n\pi}{2N} - \omega^2 \epsilon^2 \right) a_n^2 \right\} \quad (E.3)$$

where J is the jacobian of transformation which equal to $\left[1/\epsilon \right]^{N-1}$.

Since the integration over each a_n can be performed separately, we have

$$\int_{-\infty}^{\infty} da_n \exp \left\{ -\frac{m}{2i\hbar\epsilon^2} \left(4\sin^2 \frac{n\pi}{2N} - \omega^2 \epsilon^2 \right) a_n^2 \right\} = \left[\frac{2i\hbar\epsilon^2}{m \left(4\sin^2 \frac{n\pi}{2N} - \omega^2 \epsilon^2 \right)} \right]^{1/2} \quad (E.4)$$

Thus

$$F(\tau) = \lim_{N \rightarrow \infty} \left(\frac{1}{A} \right)^N J \left[\frac{2\pi i \hbar \epsilon^2}{m} \right]^{\frac{N-1}{2}} \prod_{n=1}^{N-1} \left[4\alpha \sin^2 \frac{n\pi}{2N} - \omega^2 \epsilon^2 \right]^{-1/2} \quad (\text{E.5})$$

On substituting the value of $1/A$ into eq. (E.5) we obtain

$$F(\tau) = \lim_{N \rightarrow \infty} \left[\frac{m}{2\pi i \hbar \tau} \right]^{\frac{1}{2}} \sqrt{\omega} J \prod_{n=1}^{N-1} \left[\frac{\epsilon}{4\alpha \sin^2 \frac{n\pi}{2N}} \right]^{\frac{1}{2}} \prod_{n=1}^{N-1} \left[1 - \frac{\omega^2 \epsilon^2}{4\alpha \sin^2 \frac{n\pi}{2N}} \right]^{-1/2} \quad (\text{E.6})$$

Since we know that $J = \left(1/\epsilon \right)^{\frac{N-1}{2}}$ and $\prod_{n=1}^{N-1} \left[4\alpha \sin^2 \frac{n\pi}{2N} \right]^{-1/2} = \frac{1}{\sqrt{\omega}}$ then we have

$$F(\tau) = \lim_{N \rightarrow \infty} \left[\frac{m}{2\pi i \hbar \tau} \right]^{\frac{1}{2}} \prod_{n=1}^{N-1} \left[1 - \frac{\omega^2 \epsilon^2}{4\alpha \sin^2 \frac{n\pi}{2N}} \right]^{-1/2} \quad (\text{E.7})$$

As N approaches infinity $\sin \frac{n\pi}{2N}$ approaches $\frac{n\pi}{2N}$, the harmonic-oscillator prefactor can be written as

$$\begin{aligned} F(\tau) &= \left[\frac{m}{2\pi i \hbar \tau} \right]^{\frac{1}{2}} \prod_{n=1}^{\infty} \left[1 - \frac{\omega^2 \tau^2}{m^2 \pi^2} \right]^{-1/2} \\ &= \left[\frac{m\omega}{2\pi i \hbar \sin \omega \tau} \right]^{\frac{1}{2}} \quad (\text{E.8}) \end{aligned}$$

VITA

Name Mr. Metha Nithisoontorn

Born February 6, 1960

Degree B.Sc. in Physics, May 14, 1981
Ramkhamhaeng University
Bangkok, Thailand



ศูนย์วิทยทรัพยากร
จุฬาลงกรณ์มหาวิทยาลัย